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C+O2=CO2 + 395 /          (I), 

2C+O2=2CO + 219 /      (II), 

C+CO2=2CO – 175.5 /     (III). 

          

  3·107 –1     

      -  

     ( .1). 

     

        

    ,  de1   

e1      ( . 2).  

      

    ,   



105 

 

  .   (III)   

    . 

      

      (  

 100      200 ). 

         

1 .     

,     .    

  ,   

   ,       

(III). 

  -   (  

) Se > 5,      Se  1,   

       

. 

  ,   

       

 ,      

  (de1 < d < de2)     

  a,min,    , 

  .  

 
 

. 2.  

    

  

   : 

g  = Tw = 293 K, 
2O

C
∞

 = 0.50. 

  

( ): db = 100 , 1) b = 1400 

, 2) b = 1500 . 

 –   (I), (II)  

(III),  –  (I)  (II). 

 

. 1.     

  

  

    

 : 1) Tb = 

1500 K, 2) Tb = 1400 K. (db = 100 , 

g  = Tw = 293 K; 
2O

C
∞

 = 0.50.). de –

   

. 


